Opakovani

1. Vypocitej a vysledky zaokrouhli na stovky.
a)

660 - 170 = 760 + 150 = 210 + 490 =
930 -480 = 330 + 190 = 920-370=
510-120 = 490 + 220 = 480 + 480 =
380 -290 = 180 + 260 = 620 -430 =
b)
721-130 = 270 + 454 = 437 + 280 =
846 - 450 = 489 + 230 = 621-170 =
619-330 = 568 + 140 = 389 + 380 =
456 - 360 = 390 + 267 = 526 -230 =

2. Vypodcitej a vysledky zaokrouhli na stovky.
328-23+210 = 263 -52 + 450 =

811-11+110= 114-12 + 620 =

3. Vypocitej a vysledky zaokrouhli na stovky.
712-10-110= 503 +72 +220 =

539 + 30-200 = 631 +58 + 120 =

4. Vypocitej a vysledky zaokrouhli na stovky.

% (250 + 330) - (110 - 20) = 850 - (440 + 200) =
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Opakovani

1. Vypoditej.
a)
365 - 180 =

475 - 280 =
611-220 =
489 - 190 =

b)
409 - 170 =

563 - 280 =

2. Vypodite;.
(156 -75): 9 =

(123-59):8=

3. Vypodite;.
(286 - 277) .9 =

(426-419).7 =

4. Vypocitej.
700-500+(8.7) =
320-130+(9.3) =
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552 + 61 = 440 + 370 =
236 + 45 = 526-330=
494 + 92 = 501 -160 =
383 +58 = 925-140 =
308 — 220 = 291180 =
739 -250 = 539 -280 =

437 +(9.7) =

528 + (8.8) =

611+ (8.5) =

936 +(9.4) =

400-300+(5.6) =

200 - 100 + (4. 9) =




